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Department of Mathematics
Math 262 Sdudons
Test 4

1. Find the area of the region bounded by the given curve that lies in the sector 0 < 8 < 1

r =4/sin(0)




2. Find the area of the region inside both curves.

r? = sin(26) T B
r? = cos(26)
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3. Find the exact length of the curve.
r = 3sin(6) overOSGSE A(h*/
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Determine whether the sequences converge or diverge. Justify your answer, no guessing.

, 3
5. a, = sin (;)

4.a, =In(n+1) — In(n)
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Determine whether the series converge or diverge. If it’s convergent, find its sum. Justify your answer, no
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Determine whether you have a convergent or divergent p-series. Justify your answer, no guessing.
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